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Total T;me; 3:00 Hours : MATHEMATICS (Part-T) ' Total Marks: 100
. ‘ (Fresh/New Coune) .

Note: Theze are three sectlons in this paper Le, Section A, B & C. VERSIO vN H /:\ :

]

Time Allowed:' 20 Minutes "Secﬁon- A" Marks: 20
INSTRUCTIONS:
. Attgmpt this section on.the M_Q&Aﬂgﬂ_@_[_ﬁhﬁg}on!y -
*  Use black ball palnt or marker for shading only one circle for comect opﬁon ola quasﬂon
_ * _Nomark witl-be awardad for cutling, erasing, over witling and muttiple circles shading,
QL.  Choose the correct option i.e. A, B .Gy o;.D
L. WZ=—=2+3DthenZ=...ciciciivirennne . S o o
- ® z2+3 @& -2+3i ©® -2-3i ® 2-3i
2.0 fZ=a+bithenZZ = ccciviranae SOT
@ zr ) © T © I ' @ |-z|
o 2 3 :
3 The matrixj0 0 -—5] . oo fOrm,
) 0 0 0J. ’
® Echelon © (® Not Echelon © Reduced Echelon - (® Not Reduced Echelon
4.  Asystem AX =0 of three homogeneous linear equations in three variables has a trivial-solution if A is ......
® Non Singulax Singular ® Non Negative ® Homogeneous
5. K X)=iennenn Vrsaraine : ' ' . :
® +i R ©®.0. © 1
6. The nth term of Geometric sequence s v.o.cvensiiierecnes
® 1o : art ©® am @ am?
7.  Harmonic Mean between 2 and 38 «..ovvesusisbvnnians '
12 : 5 ) 1 5
@3 | & ) 3 ® 3
8. 'q‘—ai T sersiasessvssicesens -
- ® 7 8 3 © 42 '@ 120
9. IfE and E' are complementry events then P(E) = ...... e A Yo
® P@E) -1 ® rE . L@ 14P(E) & 1-°E)
10.  Intheexpansion (a +b)" ifnis odd thenithas ...... crennieines middle term, '
" ® One - @ Two : © Three ® None of these
. n _ R . .
1. (n“ ) = ’ .
S n o n-1 b n
. ® p ' o (r) © ( r ) C (r—-l)
12,  The funct:on () =x3+ x*+ 1 IS vevererresnm : L
® Even ® Odd ' @ Neitherevennorodd ® None of these
13, The linear inequalities that are involved in the problem are called .......coeeivenensns g
' ® Problem constraints @ Feasible region © - Feasible solution ® Feasible problem -
4. 0SB =uriiiinnen L _ '
. ® cos(m~ B) ® --cos(n B) ® cos(wr +B) . ® sin(n—p)
15, sin (x+y) +s|n E=Y) =i o : .
® 2sinxcosy 2siny cosx © 2cosxcosy ® 2sinxsiny
16.  Cot (F) Tan () =............. e
ath - a~b o?-p? b-c
e a-b ath © 4 ®© bie
17.  Area of triangle when two sides and their mcluded angle is given. Area = .....c..onriiinin
1 "o
® —abSlnB ® —-thlny © 7 acsin« -:-abSmy
18,  Allthe real numbers except (2n + 1) = +n € Z s the domain 3] SR

® Tanx ® Smx ©® Secx

L]
®
19, ‘Theangle of Cos™? (——:-)= _
® , @ e ® ==
20, Afunction f(x) = VXZ + LIS Jiovneienniine .. function, :
@

. ® Rational ® Identity - ©® 0dd



MRD-X118(a) - T OO

Total Time: 2:40 Hours ‘MATHEMATICS (Part-I) Total Marks: 80
: : (Fresh/New Course)
_ "Section-B" | Marks: 50
Q.2. Attempt any TEN (10) parts of the following, Each part carries equal marks. -
G 12, =2+31, Z;= -5 + 6i then verify that Z; + Zz =Z, + Zz
(i) IfAisasquare matrix of order 3, then show that A — A'is skew symmeiric.
(i) Ifp = 2i—jandq = xi + 3j then find the value x such that|p+4ql =
. 1 1
(iv) The2™termofanH.Pis 5 and the fifth term is — Z.Find the 12% term.
(v)  Sumtheseries 22442 4 6% crereriinan up to n terms.
(vi) Provethat n-1C+"-*Cr.a=nGr
(vii)  Show by mathematical induction that -‘rf;fi is an integer.
(vii)) Find the inverse function of f(x) = g—;—%
(ix) Find the minimum value of the functlon fx,y) = Sx + 2y subject to the constramts
2x+y==2, x+2y<10 x=0,yz0
() Prove thatsin®> L f_‘_ﬂi}'f_“_i
~ (xd) Find the area of tnang]e ABCinwhich'd = 30, =50 andy = 100
(xii)  Show that Sec (Arc Tanx) = V1 +x2 _
(xiii) Find the angle between the pairs of vectors ry’= it2j—k rp=i+j-2k
. "Section-C" Marks: 30
Note:- Attempt any THREE (3) qhestions. Each question carries equal marks.
Q.3 @ Ify=- L2 -';—- + -1—3—5- —1; 4 v eor e o oo then show that y? + 2y—1=0
3 2 1 . o 3 1
(b) fA=|-1 5 7|andB= 12 -5 3 then show that (A +B)t= A+ Bt
0 9 2 7 1 9
Q4 (@ if ag +a, = 6andag —a, = 7 ,find the arithmatic sequence.
(b) An isosceles tnangle has a vertical angle of 108° and a base 20 cm long. Calculate its altitude.
Q.5. (a) Find maximum and minimum of‘the function y = e
(b) IfP(A) =3 ,P(AUB) = 2 andP(ANB) = i Find P(B)
' 9
Q.6. (a) Find the term independent of x in the expansion of (sz + %)

(b+c+a)(b+c—a)

(b) Use the law of cosines to prove that1l + cos x = "



